#WRO02:CBz14SETIALY ARILZ A Y R: WR-02(:‘BFH(M6+M7

COE(F. ALYA RIL—Lty b WR-02CBFE(M6+M7,L3,L12) ZHBEVKRSOIEZEL TRICHINESTEVET,
KBRS, ABETNZRGA RIL— LT, MAMCEREIEAMRR, 7 BN TATLTT . AREED
fH1FBFEICEOT, ATAT1FT RGN, -tz EIFRTENTEFRT,
TSI BLTHRENRY AR S3>T-I0E L ICENFT,

E -I M3x10 7”\tx\ 2

M3x12 FREX

M3F(O>Fyb

_ M3x5 FAEZ

M3x8 Mt 2

M3x10 FREZ

AR HEN-YETEADIBEELETRVRUMEEIEVEY .,

ERGA K Rﬂt’” HA =) H—EZNT 5~

T440-0842 BB ESiEHEEN62-79
YO, CEBRIENTEVEUSERERCERELEDETZE, servicell@eaglemodel.com



